
MA 1212: Linear Algebra II
Tutorial problems, January 22, 2015

1. (a) A subspace U of R4 is the linear span of the vectors
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. Find some basis of this subspace.

(b) A subspace W of R4 is the linear span of the vectors
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. Find some basis of this subspace.

2. Find some basis for the intersection U ∩W of the subspaces from the
previous question.

3. Is the subspace spanned by the vectors v1 =
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an invariant subspace of the linear transformation ϕ of R3 given by the matrix
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? Explain your answer.


